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2019(0dd)

Sem. VI - C/CR
Environment. Engg.

Time : 3Hrs.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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10.

11.

OR(3721dT)
Give construction and working of Trickling filters

with neat sketch.

fewfdw fheex @ fawior vd & fafer &1
afed quie & |

Discuss the types of sewers and clearing of sewers.

6
HaR & YPR Td GBI1s &l fadar o |

OR(3721d)
Explain the process and control of sludge digestion.

ool SrsueF &1 fafsr va ffra=or &1 qoiq
B |

Write the advantages and disadvantages of land

disposal of sewage.
6

HNdS & o9 R SUAR & T 9 s
@l ford |

NT6007

(i)

(iii)

(i)

(iv)
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QI Erdal &1 safT ¥ 90 dB 3R 94 dB
2 dl s9al aRemdY Y99 A9d B
R BIIT—

(31) 184dB

(d) 95.5dB

(|) 94dB

() 92dB

Which of the following industry is least
polluting?

(a) Cement industry

(b) Electronic industry

(c) Rollings mills

(d) Thermal power plant

=1 9 3 SI9 91 ST 99 $4
ugfya sear 8-

(31) e SenT
C)EGEMIREASEIR

() <ifeiT firer

(]) ardia 9raR wiic

Which of the following is not a major indoor
pollutant in a developing country live India,
in the rural areas?

(a) Cooking and heating activities

(b) Burning of cow dung

(c) Burning of crop waste

(d) Building material
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GROUPC

Answer all Five Questions.

Il uig g & SR o

7.

6x5=30

Discuss the various water borne diseases on the
basis of their causative agents.

gl @ Uer g arel faftr=r SRy &t
HRUMHAD MR IR fId=a=T a3 |

OR (312f1an)

Explain the methods and precautions in collecting
samples.

STd &1 AT o4 31 fafer g wraentrar &
quis & |

The population of Sdecades from 1970 to 2010 are
given below in table. Find out the population after
one, two and three decades beyond the last known
decade by using Arithmatic increase Method. 6

Year | 1970 | 1980 {1990 | 2000 | 2010
Population [ 26000 | 29000 | 35000 | 43000 | 48000

NT6007

(vi)

(vii)

(vii)

(viii)
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yfa aafed arit @ wr=m offer & o
P oIt 83—

(31) ufar aafaa gfa faa

(@) ufa =afea ufa g«

(@) ufa «afea gfa #@re

(?) ufa afea gfa ser

The most common surface water supply
source is:

(a) Sea

(b) River

(c) Pond

(d) All of the above

Hdasald MYfd &1 wedw «1fdra yafea
“id 8-

(@) W=

(@) T

(W) dree

(]) Swiad u+

G.I. pipe has a coating of:
(a) Zinc

(b) Lead

(c) Silver

(d) Aluminium

P.T.O
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4.

Why ozone is not widely used in community water

supply?
4

|raeitre Sdrgfd 9 S ST 9" g=
Y g el fear orar 87

OR (3121a1)

Write the advantage and disadvantages of cast iron
pipes.

Toldi dig UISU & 19 dor sl &1 ford |

Explain the following:
(1) Filtration
(i1) Disinfection

frr=ifed uql @ aurer & |
(i) fpeg 2
(i) feag—m R

OR(37214T)

Differentiate between pressure relief valve and
check valve.
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(x)

(xi)

(xi)

(xii)
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od gfgevor ufsar § yem avor 28—
(31) PIpeleE v fafaT

(@) fheereM

(@) fsaswa™

(]) 3raareH

The treatment of water with bleaching powder
is known as;

(a) Pre chlorination
(b) Super chlorination
(¢) Dechlorination

(d) Hypo chlorination

Od BT SUAR slIfdT UrSs} & 9Tl
B D ST SITdT 82—

(@1 fraar_eE

@) gWR T

(@) 1 FHTE

SR ERIECIKGRE]

The type of value which is provided to
control the flow of water in the distribution
system at street corners and where the pipe
lines intersect is:

(a) Check valve

(b) Slice valve

(c) Safety valve

(d) Scour valve

P.T.O
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(xx) E:Iﬁ_\qaﬁq?ﬁﬁﬁﬁ?ﬂ?ﬁﬁ—qwfﬁ
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(a1) wifsad Gewe
(@) HIUR Gebe
(\) wifsaq FaiRsS
(2) dferr FaRIsS

GROUPB

Answer all Five Questions.

gl uig g & SR o

2.

4x5=20

Write the important physical and chemical properties

of sewage.
4

dae @ gq@ wifae aon varRte o &l
ford |
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(xiv)

(xv)

(xv)

(xvi)
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Sl § oTefla Sfilaq @) a1 & forg
=Aad feaar fdieds sifaiio saem
SufRerd E-T arfdy—

(31) 2ppm

(9) 4ppm

(|) 10ppm

() 40ppm

The pathogens can be killed by:
(a) Nitrification

(b) Chlorination

(c) Oxidation

(d) None of these

YenoF g &l fhud ART ST GdhdTl 27
(a1) srsfefhae

CIECINEEE!

(W) AfadrsT=

(®) 39 9 BIg 78l

The ratio of 5 days B.O.D. to ultimate
B.O.D. is about:

(a) 1/2

(b) 2/3

()1

(d) None of these
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